.y Cardinal
7 DETECTO

3P WALL MOUNT
HEIGHT ROD INSTALLATION
AND OPERATING GUIDE

Installation
1. Remove the cardboard insert from the height rod.

2. Install the two (2) hex head screws* from the hardware pack in the wall. The lower
mounting screw should be 4 5/16 inches from the floor, and the upper mounting screw
should be 24 1/2 inches above the lower screw or 28 5/8 inches from the floor. Leave
about 1/4 inch gap between the head of the screw and the wall.

3. Place both height rod wall mount brackets over the two (2) pre-installed hex head screws
and pull down.

4. Use the included wrench to tighten both hex head screws. Do not over tighten the screws.

*NOTE: Use the two (2) longer (#10 x 1”) screws for mounting the height rod to the wall.
The two (2) shorter (#10 x 1/2") screws are for attaching the height rod to a scale column.

Operation

1. Before the person steps up to the height rod to be measured, the spoon should be rotated
to the horizontal position, and raised well above the person's apparent height.

2. The person may now step up to the height rod. The spoon should be held horizontal and
above the person's head.

3. Carefully lower the spoon, while keeping it horizontal, until it rests gently upon the top of
the person's head. If the person is shorter than 3' 4" (101.5cm), push the latch to the right,
while simultaneously pushing down on the spoon, until the spoon rests horizontally upon
the top of the person's head.

4. Read the height of the person as follows:
If the back of the spoon points to the outer height rod, then it points to the correct height.

If the back of the spoon points to the inner height rod, then the correct height is read at the
top of the outer height rod (see "Read" arrow on the outer height rod).

5. While holding the spoon horizontally, raise the spoon above the person's head. The person

may now step away from the height rod. Hold the spoon horizontal until the person is clear
of the height rod.

6. Rotate the spoon back to the vertical position and adjust the height rod back to the rest

position (i.e. the spoon should be locked in place within the inner height rod and the inner
rod should be at its lowest position).

CARDINAL SCALE MFG. CO.
0033-M157-01 Rev C PO Box 151 « Webb City, MO 64870
10/12 Ph: 417-673-4631 e Fax: 417-673-5001 Printed in USA
www.detectoscale.com

Technical Support: Ph: 866-254-8261 e techsupport@cardet.com



24 1/2"

4 5/16"

7.5_ ™,
T -~ A
ERAN | Y
= 1INl 1
i g w y | \
/ 4 U i
A Ed 1
i B |
i |
T {
_"_ I
i 4
_-_— rd
+ /
~ = yd
™~ - o

N

("é“_
I\“\

y
ll"..“"_“"_"m.-..ll

e

A ="Read" line
B = Spoon

C = Inner height rod

D = Outer height rod

E = Hex head screws (2)
F = Mounting bracket



